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A.3.3:1 B.3.5:1 C.3.7:1 D.3.9:1

9. BHIEIR T 32g FEET &Mkt 736. 3k]
FIPE, FFIEE IE iR s B B R b2 7 12
KA [ ]

A. CH,0H (1) + %02 (g) =—=CO, (g) +

2H,0(1) AH = +736.3k]/mol

B. CH,OH (1) + %Oz(g)ZCOMg) +

2H,0(1) AH = —736.3k]/mol

C. CH,OH (1) +%02(g)=C02(g) 4
2H,0(g) AH= —736.3k]/mol

D.2CH,0H (1) + 30, (g) =—=2C0, (g) +
4H,0(1) AH = —1472. 6kJ/mol

10. H—MER %, U ASENREN 5%
5 H BORES

(DEASTERESHA RS RS, ERWRA
KBS, AEHETHM SEE, HmEE
BRI G K A .

(2) 1mol HAMRBEG A UK ZE LI H1241.8
kI B IRE, 5 A KR e e T R S

1. fER R AR A MAE R EE S, HH
AT A KRB TR A 1] AL




8 “mmhurmREFIRE 0000

(1) REVR AT 43 — BB R PN — R AE IR 5%, 4%
MR IRIG A REVR PR — AR TR, T Bk SE H
AE B2 [ B B ) BB URPR O SRR VR 1 RS
KERA K HE R BERN A RES 2 4k K {5 FH A

PR A AETR, T R BE S0 RE KRS SR bt

(2) B A KR EREIR LU AR TE 244 A
% &M i RIR SR BE B IART A9 1k 2% I
R ARG B4 B 8 EZ 5 C.C,H,,,, Al
CH, %)

o E
X A5 1 B 97 T

JRCEAR R, SR
e (il 2 R0 B/

() B ZN Ny, SR — P i R TE Y5 e Y
HARREUR . SURBERT, RIVEE R, 4g H, Mbest
SRS KIS R 571. 6k] iR E th e n H, BREE#
A R

12. i (A B, BER 2 S A
o W EZ R B —E A A THIRES
1A, e R S KSR A, B SRR KRS

(1) 5 Hh il USRS m9 = A2 S 5 2

(2) WAL MO B R (oM, ) L
AR A I R

C;Hg(g) +50,(g)==3C0,(g) +4H,0(1)
AH = -2220.0kJ/mol

ELH1 CO PP 22 TR

CO(g) +50;(£)—C0, ()

AH = -282.57k]/mol

ALY B E I C.H, 1 CO #ibe, =AY
HE EL N .

(3) ERMERBEHIFE T RER R «

2H,(g) +0,(g)=—=2H,0(1)

AH = -571. 6kJ/mol

T EE 5 B F) S ORI e R B, 7 A A A
a2 K o

o BRENER
1. E%I]:2C0(g) + 0, (g)zzcoz (g)
AH = —566k]/mol

1
Na,0,(s) +CO,(g)==Na,CO,(s) +702 (g)

AH = —226kJ/mol

AR LA B Pk 2 7 R 2RI, F 3 U sk TE A 0
2= (]

A. CO [k 283k]

B.2Na,0,(s) +2C0O, (g) =—=2Na,C0,(s) +
0,(g) AH= -452k]/mol

C.CO,(g) 5 Na,0, (s) RN H 566k] P& i}
% H M 6. 02 x 107

D.CO(g) 5 0,(g) M EBERMKT CO,(g) .5
e

2. WA & Y AT A TR < A IR AN
1o AR T BIVAS Sy WA I 68 T 7770 B0 L 24 4T
TR, L5 RS MmELEY. T
IR E X — B R 2 [ ]
U5 A B C D
ld=—:¥ CH, C,H CiHiy CeHis

b/ C - 164 - 88 -0.5 69

BT AR R B

BN ENER

SEE Y
AR Y, BIAL 2 BN Y

A5 ROBARZ K i
J37 F) K, X wHTE
2 RBER BRI R S, BB R L, BN

AH,
IR S =L, % AH, <O AH, 0,
2

GESLIESL

#AH >0, AH,  0,AH, +AH,= 5
3. A S N7 R P A S o A PRI, T L
JO7 P S e R A H B ok . AR 2 e A, TT LU
BRI LA E R R fE
FEANERRE, 15 2B R S ALk 2 5 2

e BIBE RN
R 1 F AN R TR
(801 ) S0 S R K 10 S8, T B
R PR R ST, |




1
H,(g) +702<g):H20(1)
Ha(g)+3 O:(8) AH "o
AHI AHZ

E‘%DH<g)+ O(g

AH, = —241.8kJ/mol

H,0(g)=—=H,0(l) AH,= —44.0kJ/mol

RETHIRRER

[T R 2 e, TUR AT MU L
WAL E 7 R A AH A A0 SO R, 5 B BT R R
Rty B R, B AH=AH, + AH, = -241.8
kJ/mol + ( —44.0kJ/mol) = —285.8k]J/mol,

AH = -285. 8kJ/mol

ES 2. FAEHRERBTREANITE

[ B 2) 236 sp A RE L3200 i A1 B RN AR AL
F g S O AH  {ERTN By CH, #ABE SR AH, AR
P F T E K AH, .

@OCH, (g) +20,(g)==C0,(g) +2H,0(1)
AH, = —890. 3k]/mol

@C(HHE) + 0, (g) =200, (g)
AH, = -393.5k]/mol

AH, = —285. 8kJ/mol
@C(AE) +2H2(g)=CH4(g) AH, =7
[T FIA £ e ent, TURREHREE
T R K ﬁﬁ‘@ﬁﬁjﬁfif DA R B T K
BB R, 47 Ui — A %RE, EREHNE
ﬁ”ﬁé*fﬁl*}%%%@ﬂfh%:

AH,

C(RE) + 2Hu(® CHy(g) -

+0x(8)|AH, + Ox()|2AH; -AH,

COxg) + ZH0(1)— —202
AR EROO@F@F AH Z [{ A LT X
2:0+@x2-O=@, it A AH, = AH, +2AH, -
AH, = -393.5 kJ/mol + 2 x ( - 285. 8) kJ/mol
- ( -890.3)kJ/mol = —74.8k]/mol,

% U¥RESEED 9

[&xR]C(H ) +2H, (g)==CH, (g)
AH, = —74.8kJ/mol

o AMEREN

1. T2 F 35 i e A ULk A IE )2

[ ]

A, NG R SE AR 43 LB 58 A, H X
o7 FAAH )

B. [ hiE HU5 OB AR 2R 1 56 S S A R, T
5 N iR TR R

C. A 6 5N ) R A B
W AR R A £

D. #R4E 35 307 8 A, vk RSP AH HE A
BT A5 R A

<

EE A, AT

2. 25
H,0(g)==H,0(1) AH, =Q,k]/mol
C,H,0H(g)=—=C,H; AH, = Q,kJ/mol

C,H;0H(g) +30,(g)==2C0,(g) +3H,0(g)
AH, = Q,k]/mol
Efd 23 WAEWIRSE SRR R IR B = i
DU L AR kl.,
A Q +0Q,+0s
B.1.5Q, -0.5Q, +0.50Q,
C.0.50Q,-1.5Q, +0.5Q,

D.0.5(Q, +Q;+05)

3. BA:

Zn (s) + 3 0; (g) = 20 (s)
AH, = —351.1 kJ/mol

Hg (1) + 5 0, (g) == He0 (=)
AH, = —90.7 kJ/mol

UL AT 51, Zn (s) + HgO (s) =—=7n0 (s) +

Hg(1) ) AH 2 ( ]
A. -441.8k]J/mol  B. +260.4k]/mol
C. -260.4kJ/mol D. —254.6k]/mol
4, B5125%C ,101kPa 554 :
M4AL(s) +30,(g)=—=2Al,0,
AH, = -2834.9kJ/mol
@4Al(s) +20,(g)==2Al,0,
AH, = =3119. 1kJ/mol
AR R ER I R ( ]
A. R 0, e O, fiBRAK, i1 0, & 0; AR



10 Smepspmpeens

A
F R D R] 5 5E 58 B RR B I 708. 7k]
C.0; t O, Ta%E, H1 0, 28 O, A7t b
S Q)R] E 45 AR Be AR 779. 78 kJ/mol

S5 ERE T AR MR ET = EER
A = B RE , B AN R R BB A 7R 1. 00kg SlifE Y
SR FAA ( ]

O A/ R AE: SI0, (s) +2C(s)
Si(s) +2CO(g) AH, = +682.44k])/mol
@ iy A A ) 15 A ) SEAE - Si(s) +2CL, (g)
==SiCl,(g) AH, = -657.01kJ/mol
@alifE 4 7= . SiCl, (g) +2Mg(s)
2MgClL (s) AH, = -625.63k]/mol

A.2.43 x10°k] B. -2.35 x10%kJ

C. -2.23 x10°kJ D. -2.14 x10*k]

6. FEIMREE—E B T Be SR B3 E R Q,
TR CO, A RIEER, 75 Smol /L #) KOH
P 100mL, T e AR AR ( ]

A.16Q  B.8Q C.4Q D.ZQ

7. B E TS0, (g) +

SO,(g) AH= -98. 32u/m01,7$ﬁ%§npﬁ/\ 2molS0,
A 1molO, FE43 N , B ZHl i IEE Ay ( ]
A.196. 64k] B. /T 98.32k]
C./NF196.64k]  D. KF 196. 64k]
8. B A EME R BR B A 2840 kJ/mol, X4 B R

=—Si(s) +

0 (g)=—

LA g 7K B A Ay A [ 1]
A.26.3k] B.51.9k]
C.155.8Kk] D. 467.3k]

9.2 #: ©Sn (s, A) + 2HCl (aq) =
SnCl,(aq) +H,(g) AH,;@Sn(s. k) +2HCl(aq)

SnCl, (aq) + H, (g) AH2;®SH(S\7‘]E)
Si3..25C

—soon(s\H)  AH, = +2. 1kJ/mol, T 5l i
IR ) ( ]
A.AH, > AH,

B. Bl ak MK AL TEMR T 13. 2°C g h &
G

C. TR B b A 1955 14 S A A SR M

D. BTEH IR T LURGPIRSFE

10. 1840 4%, Fii +- AR m AT Rt T 12 R
ARSI AN 55 157 90 ) B W AR S e A R B 20K
AKX, MEHPELRTEX ., RILHE, 54T

F i 75 R, [ a1,
2%
(1)NH, (g) + HCI( g)—NH,Cl(s)
AH, = —=176k]/mol
(2)NH;(g) +H,0(1)==NH,
AH, = -35.1k]J/mol
(3)HCI(g) + H,0(1)==HCl(aq)
—-72.3kJ/mol
(4)NH, - H,0(aq) +HCl(aq)==NH,Cl(aq)
AH, = -52.3k]/mol
(5)NH,CI(s) +2H,0(1)==NH,Cl(aq)
AH, = QkJ/mol
W) NI RE
11 E R0 5 20 Y g 4«
(DCH,COOH(1) +20, (g)===2C0, (g) +2H O(l)
AH, = -870.3k]/mol

* H,0(aq)

AH, =

@C(s) +0,(g)=—=C0,(g) AH,= -393.5
kJ/mol
@Hz(g) + 2(g) ==H,0(1)

AH, = -285.8k]/mol

IR T RO B RN #:2C () +2H, (g) +
0,(g)=——=CH,COOH(1) AH-= o

12 BAFIHRLEH R

(DFe,0,(s) +3CO(g)=—=2Fe(s) +3C0,(g)

AH, = -25k]/mol

(ZBFe,0,(s) +CO(g)
AH, = —47k]/mol

@Fe,0,(s) +CO(g)
AH, = +19kJ/mol

Hili FeO(s) 5 CO B A, Fe(s) 1 CO, Fy#t
TR .

==2Fe;0,(s) +CO,(g)

3FeO(s) +CO,(g)

LRk 5T TR M K& NH, () VB8R,
NO, YEBIAFN, R B4 B N, M A H,0, BH &
7N

ON, (g) +20,(g)==2NO0,(g)

AH, = +67.2k]/mol

@NzHa(g) +0,(g)==N,(g) +2H,0(1)
AH, = -534k]/mol

WK HFRADE Tmol NH, i FRRCH By

e}




2. Imol SNBSS T Imol SEABE FLHE4E
B 1mol SEALEH & 1A TR 5 L ) $A RE D AL B4 AR AR Y
rntE B o

(1) FHIPfbF R P, R EERR B AL
PR R AR RER 2 .

A.Na"(g) +Cl (g)

NaCl(s) AQ

B. Na(s) +%Clz(g)=NaC1(s) AQ,

C.Na(s)=—=Na(g) AQ,

D.Na(g) —e” Na®(g) AQ,
E.5-Cl(e)=—Cl(g) AQ,
F.Cl(g) +e” Cl™(g) AQs

(2)E i AQ 5 AQ.AQ, . AQ; \AQ, \AQs ZTH]
(WP 0

B2k REROITHR

1. Pk AR By K gE /M R 1)
REE, IR B AR #u Y K Bk 45 /M [F]
HFEE
2. % FIE 06 AN A I 5 1) B ROE, He AH B
HHEE, FH o
3. etk N R, RER AR TL LAY A AR AL
BAt, BIRE R ARL ) £ 0 B &K ALY !
BB E . BN AT Bk 58 R 7 AR Y
Pl = TP R B x AR R,

Lo EREARE

ER LA EFEXPREANITE
[ B 1]7E 100g BRATE 2IRBE PTG A, CO 5

LikB.CO, 5B, ELAERMCE T B AN

C(s) +—;-02(g)=——(:0(g) AH, = —110.35
kJ/mol

CO(g) + 30, (8) ==CO0, (g)

AH, =
—282.57kJ/mol
53X BeRR SE AR BEAR HL, R A 2 ]
A.392.9k] B. 2489. 4k]

C.784.9k] D.3274.3k]

—T'———————

E-E wrRmsSee 1]

(A7) 100 7 5 4 ¥t it o 248 000

(110.35 +282.57) k] ~3274. 33k] ; 1~ 7 4 ¥k %% it 7K

Hjé’ﬂ??@&%jb;%x;—xlm. 35k] +%x—§— X
392.92k] ~2489. 42k] , 41 % 784.9Kk],

[ER]C

EH 2. HXRERTENAEKIT

[§l2) & m FRIRASfb2E R
H,(g) +%Oz(g)=H20(1) AH = -285.8

kJ/mol

C,H(g) +50,(g)==3C0,(g) +4H,0(1)
AH = —2220.0kJ/mol

LI RSP Be IR & TR Smol, 58
PRI A 3847k, YR A MR v U UFI P e Y 1A
A2y 2 SHEBH I REZ Ay

A.1:3 B.3:1 C.1:4 D.5:13

[ R4 ) %20 o7 DURL M 7 3575

ik — HEHRE

T %% B MK K8 # A 2220. OkJ/mol , T 7 2 K 1%
HER KT, HMEAFARNERL - AT
11, EAEFR TR BERNEAT 111, 4

HRE,
SR T B E T34k R Ak :3217011(‘] =769. 4
kJ/mol ,
L 1450.6
\ P
769.4\
CsHs 2220.0/ 483.6
1450.6 3
B e S5 Ll _3
wOo#E Ok OB W R E OZ K =

285.8kJ/mol x Smol x3/4 _1072k] 5
2220.0kJ/mol x5mol x 1/4 ~ 2775kJ 13

[Z£]B D

v REEEEN
1. & 50
A(g) +B(g)==C(g) AH=-0,(Q,>0)
D(g) +B(g)==E(g) AH=-0,(0,>0)
HQ, >0,. # AMDMIRASH Imol 5245




12 “EhUsHREEIES

SR, B B @y, A FI D M R 1
H [ ]
A (0, -03): (@ -0y)
B. (05 -0,): (0, -03)
C~(Q3_Qz):(Qz_Qx>

D.(Q,-0Q,):(Qs-0,)
2. BH1:25°C 101kPa 354 ( C H, ) BB

A1 5518kJ/mol , 58 % 55 58 B 76 s 1A TR P & Ak RV Bt
By AR 57. 3k)/mol, M F 3 #uk R B E
ERARY 2 ( ]

DC,Hyg (1) + 0 ,(g)==8C0,(g) +9H,0(g)
AH = —5518k]/mol
@C,H, (1) +%o

AH = -5518k]J/mol
@H* +0OH =—=H,0 AH= -57.3k]J/mol

2(%):8C02(g) +9H20(1)

@NaOH(aq) +— H SO, (dq)— Na, S0, (aq)
+H,0(1) AH = +57.3kJ/mol
A.DB B.2® C.Q@ D.®

3. B
CH,(g) +20,(g)=—=C0,(g) +2H,0(1)
AH = —-890k]J/mol

CO(g) +50,(g)==C0,(g) AH= -282.5

kJ/mol

R AnFRAEIR B T 1 CH, ,CO ,CO, 2H i 89. 6L
IR SURTE R IRBET RERL Y 1010k] B9 BRI 4 i
18 WK IR 2 BRI ARk CO 5k

I E AR ( ]
A.40% B.50% C.60% D.70%
4. 2.
,O(1)

AH = -(Q,k]/mol

2H,(g) + 0,(g)=—=2H,0(g) AH= -Q,
kJ/mol

2H,(g) + 0, (g)==2H,0(1) AH= -0,
kJ/mol ‘

PRUEROL T, BUARTREE Sy 123 A F B FI RS0
RAAR22.4L, S REBMATELRBERERE =
HR W PR ( ]

1 3
A. IQ' +§Qg

1 5 1
B. ZQI * ?Qz - ZQz

1 1
C. 7[01 * 03 - IQz

D. %Ql +‘1T02 +%03
5. EHI:25CH},2S0,(g) +0,(g)==2S0,(g)
AH = —197k)/mol, A IRk T+ , i) 5 A 7 28

Hiil A 2mol SO, F1 1mol O, , 3 3| - #r i At $4 Bt
Qi kJ s 17 75— 2R [R] 1 25 P 7545 73 A Tmol SO,
0. Smol O, I -t , jtth A9 K Q,kT.
Q,.Q, WK FRRE ( ]

A.2Q,=0, B.20Q, <0,

C.Q,<Q,<197 D.Q,=0,<197

6. AT HI Bl Rt

(D2KNO, (s) 2KNO,(s) +0,(g) .

AH = +242.7k]/mol

@C(s) +0,(g)==CO,(g)

AH = -393. 3k]J/mol

A Tmol KNO, i M4 #A i BHis B 7

BRI ( ]

242.7 242.7 x2
A. =——mol B. 303 3

"393.3
242.7 393.3

393.3 x2 "242.7

7. KRR Ak 2E T R R : CLH 0 +30, —
2C0, +3H,0, E2 b — 5 B i oK T XS, e i 1Y
Wit Q, N e W UE R CO,, T #E 8mol/L 1y
NaOH & SOmL B4 74 i E 3R o MIABE Tmol TG
IR BT B ( ]

A.0.20  B.0.1Q  C.5Q  D.10Q

8. CHI M IfLF AR .

C(s) +02(g)=C02(g)

AH = =393, 5k]/mol

2H,(g) +0,(g)==2H,0(g)

AH = —483. 6k]J/mol

A # B A H, 4 B B PR 3E 0. 2mol , ff
1E O, Hog k5%, JLH0H 63. 53T [R5 #
5H, WYIRKEZ LR ( ]

Al:1 B.1:2 C.2:3 D.3:2

9. ERTER S TARFT FBE(NH,) MK —
AL RNE S AL, 3% P & S0 A R S FK S
SR '

N,(g) +20,(g)=—=2NO0,(g)

mol

mol D mol

C.

o



r,.

4 & & ® ® & 8 4% & ® B & ® & v & ® 5 B & ® & & € & B A

AH = +67. 7kJ/mol

N,H,(g) +0,(g)
AH = —534k]/mol

M5 NO, Rk | ]
Y N,H,(g) +NO,(g) —N ,(g) +2H,0(¢g)

=N, (g) +2H,0(g)

AH = +567.85k]/mol

B. N,H, (g) +N02(g)=%N2(g) +2H,0(g)
AH = —567.85k]/mol

C.N,H,(g) +N02(g)=%N2(g) +2H,0(1)
AH = +567.85k]/mol

D. N,H, (g) +N02(g)=%N2(g) +2H,0(1)

AH = -567. 85k]/mol
10. 754k H b (CHsN; 05 ) 2k Bt 7= 4 09 N,
CO, .0, FRAS/K , B B 43l SR B Ak 2 J7 A2 U

o BRI
20°C iF,22. Tg AL H T 43 A8 B B D 154K,
T 45 A, 1mol S A FE BT i R A kJo

11. FE PP 78 M LS AR
MR — R TR L IR, AR T B BTN :a b
PR e 2 FL PR o A, 8 A B AR el FLBR P R
o R R E R . O R R A T ALK
F R L SR A

B Fh e M & 1 BF B (3600k]) B BE A A
350g /K.
EL0:2H,(g) +0,(g)==2H,0(1)
AH = -572k]/mol
(1) B R R B A %

g8 U¥RESEEND 13

@ e % @ % ® % W w € ® ® B 4 A & F & A H F &

(2) 2433 7l e, 9 fol /1N KT Y 2 5 Ot — B[]
J FEHLBEN 5. 4K), M FEARHER DL T B9 H, 220
F7 (FRUEREL T, H, B#E A 0.0899¢/L)

L BT AR R

©OH, (g) +%02(g =H, AH = -285.8
kJ/ mol

@H,(g) +20,()—H,0(g) AH= -241.8
kJ/mol

@C (s) +50,(g) =—CO(g) AH =
-110. 5kJ/mol

@C(S) +Oz(g)=C02(g) AH = -393.5
kJ/mol

1 T A LA

(1) E3R SRR R AR AL

(2) H, HoRRBER cmwwm
% :

(3) # e 10g H, 2k O A K, B HE 09 24 B

(4)CO HaREERH FLA Ty
BN

P FH RATIT R E S LR, LR
K BISRARS, HEBERS R . Dl B¥RS
IKAEBIR T R HI B KSR, KEIH EE IR
CO 1 H,, B kR 2R 1: 1, B4 1mol CO K,
IRTE 2R B R, CO, ARt 283k] #4 & ; Imol H,
2 o pRige e RS K 286k) 4 5 1mol CH, S fE
T2 4RI R, CO, SARFIRAS /KR s 890k] ik
(DB W H, 52854 BB ES KL=
2.




